
א ١١١ אא 

 אא אאא 
 
 

- ٥٤ - 

F٥J٦WE
אאאאאf02.0 µאΩK2.2אא

אv10KHZ5.1؟
אW

                      
C

C F
X

π2
1

=    

 
)1002.0)(105.1(2

1
63 −××××

=
πCX 

                          Ω= KXC 31.5 

                   
C

C

XR
RXZ
+

= 

     33

33

103.5102.2
103.5102.2

×+×
×××

=Z 

           Ω= 7.1554Z 

                          
Z
VI = 

                      
6.1554

10I = 

                  mAI 92.4= 

                 
CX

R1tan−=θ 

                       
31.5
2.2

=θ 

                      °= 5.22θ 


